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Part A: Grammar and Vocabulary

Directions: Choose the words or phrases (1), (2), (3), or (4) That best completes each sentence. Then mark the correct choice on

your answer sheet. (www.iranarze.ir)

4Y. The news about the effects of air pollution on the development of children’ s lungs ..................... disturbing. (iranarze.ir)

\) are Y)is Y)itis ¥) they are

AF. Ivan ... to get a promotion to manager, but the management chose someone from outside the company.

\) had supposed Y) is supposing Y) was supposed ¥) has supposed

44. Please be quiet when you go into the baby’s room. She ........................ and we don’t want her to wake up and begin to cry.
\) may have slept Y) must have slept Y) might be sleeping ¥) she will be sleeping

4%. Most of the chocolate ..........ccceeveuuenn today is not drunk, but eaten, thanks to a chocolatier in England, who produced the

first solid chocolate in the 19th century. (iranarze.ir)

\) consume Y ) consuming Y) is consumed ¥) that is consuming

iranarze.ir N 1WA v 39.599 v 390T ottt g0 3T &Yl gw




LSyL\ sl

(35-Lil> (gLmUILS oLS g, 5 RANARZE. IR

4V. The students would certainly have solved the problem more easily if they ............... Their calculators. (iranarze.ir)

\) have used Y) would use Y) used ¥) had used

AA. In order to provide a complete report, George and his staff ........................ the graphs and charts into the written text.
\) incorporate Y) demonstrate Y) investigate ¥) manipulate

14. Jeremy has to return the software back to the store because it is not .........c.cc.cu..... With his computer. (iranarze.ir)
\) plausible Y) accessible Y) compatible ¥) divisible

\ . .. the farmer’s tomato plant aren’t fully........................., S0 he will let them grow a little while longer. (iranarze.ir)

\) abrupt Y) mature Y) explicit ¥) sufficient

\ . ). The man received over a million dollars in ....................... for the loss of his limb. (iranarze.ir)

\) constitution Y) facilitation Y) foundation ¥) compensation
10Y. Books, unlike paintings, must be apprehended .................. , line by line, rather than instantaneously (iranarze.ir)
\) approximately Y) sequentially Y) subsequently ¥) reluctantly

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers each question. Then mark your

answer on your answer sheet. (www.iranarze.ir)

The markers of a controversial computer game about bullying have decided to go ahead and launch it despite calls for it to be

banned. In the game, players take on the role of a new students at a school and have to fight the bullies, by punching them or

hitting them with a baseball bat.

Critics have said that the game encourages violence, but the makers deny this and say that, while there is violence in the game,
it is just an amusing look at school life. Moreover, the violence in the game is directed against the bullies to protect pupils who
are being bullied. The makers also say that players will learn to stand up to bullies. A British politician, a former minister, has
called for it to be banned as it might affect the way young people perceive violence. Anti-bullying charities have said that the
game might make people respond violently to bullies, which might make things more complicated and result in injuries.

1-Y. Which of the following is the best title for the passage? (iranarze.ir)

\) A Controversial Computer Game Y) Never Fight the Bullies

Y) Anti-bullying Charities ¥) Dangerous Games

1-¥. The word "take on" in paragraph 1 is similar in meaning to .........ccceeeeeuenne (iranarze.ir)

\) illustrate Y) terminate Y) undertake ¥) exclude

1.0. What does the word “this” in paragraph 2 refer to? (iranarze.ir)

\) Violence Y) The game

Y) that the game should be banned ¥) That the game encourages violence

1.#. The markers of the game say that the game will do all of the following EXCEPT ................ . (iranarze.ir)

\) telling students how to use a baseball bat against the bullies Y) teaching students that they need to be violent at times
Y) protecting students who are being bullied ¥) providing an amusing look at school life

1.V. Anti- bullying organizations are against the game because it might ....................... (iranarze.ir)

\) affect the way young people interpret violence Y) encourage British politicians not to ban it at all

Y) make people respond violently to bullies ¥) make life more complicated for bullies

Part A: Grammar and vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then mark it on your answer

sheet. (www.iranarze.ir)
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1.A. Tapping on a common practice throughout the world, .................. the custom can differ considerably among countries.
\) on the contrary Y) however Y) despite ¥) although

1.4. showed my father a picture of the car ................... I am going to buy as soon as | have enough money. (iranarze.ir)
\) who Y) that Y) what ¥) that which
1).. Ali was .................... quick learner that he was put in a more advanced after two weeks. (iranarze.ir)

\) such a Y) such Y) so ¥) very

1) ). shopping during the holidays can be ...................... expensive than at other days of the year. (iranarze.ir)

\) the more Y) the most Y) more ¥) most

VY. Anita went to the dentist ............... get some relief from her toothache. (iranarze.ir)

\) in order that Y) so that Y) in order to ¥) so aswhich
\\Y. The announcement created a lot of .................. among the young student. (iranarze.ir)

\) extinction Y) experience Y) explosion ¥) excitement
\\¥. The cruise ship had to speed up in order to reach in ................ before the storm. (iranarze.ir)

\) instruction Y) promotion Y) concentration ¥) destination
V1. According to estimates her daughter’s contribution was 62% of the whole household ............ (iranarze.ir)

\) victory Y) mission Y) income ¥) instrumen

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answerseach question. Then mark your

answer on your answer sheet. (www.iranarze.ir)

The Taj mahal is a famous mausoleum next to the river Yamuna in the Indian city of Agra. A mausoleum is a building where
people bury the dead. The name Taj Mahal means ‘the crown of palaces’. The most famous part of the Taj Mahal is the large
white dome in the center. It is 35 meters high and is surrounded by four smaller domes. The rooms inside the building are
decorated with beautiful archways and precious stones in the walls. The buildings are surrounded by gardens with pathways,
pools, fountains and green gardens.

The construction of the Taj Mahal began in 1632 and finished in 1653. It was built with materials from all over India and Asia,
but the main material is white marble. Historians believe that the materials were transported by over 1,000 elephants for the
construction. The emperor Shah Jahan built the Taj Mahal as a burial place for his wife, Mumtaz Mahal. According to legend,
he wanted to build another Taj Mahal in black on the other side of the river, but this never happened. During the Indian
Rebellion of 1857, many parts of the Taj Mahal were damaged by British soldiers, who took some of the precious stones from
its walls. Over the years, the Taj Mahal has suffered from environmental damage, and there have been many government
attempts to conserve its beauty.

\\#. How long did the construction of the Taj Mahal last? (iranarze.ir)

\) 53 years Y) 35 years Y) 33 years ¥) 21 years

\ \V. Which of the following statements is true? (iranarze.ir)

\) Mumtaz mahal. The emperor Shah Jahan’s wife, was buried in the Taj Mahal.

Y) The emperor Shah Jahan build the Taj Mahal during the Indian Rebellion.

Y) The Taj Mahal was completely destroyed by British soldiers in 1857.

¥) The Taj Mahal was built with materials from all over the world.

\\A. The word “this” in paragraph 2 refers to ......ccceccecuveeunenne... (iranarze.ir)

\) building another Taj Mahal in black  Y) the other side Y) the river ¥) legend
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V4. The word “conserve” in paragraph 2 means ........ccccceeveeveeveecnenns (iranarze.ir)
\) support Y) transfer Y) protect ¥) observe

Part A: Grammar and vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then mark it on your answer

sheet. (www.iranarze.ir)

\Y .. Research has shown that children ............... violent video games tend to become more aggressive. (iranarze.ir)

) whom they watch Y) who watching Y) watch ¥) watching
|1 [ ISR that adults and children have different tolerance levels for chemicals. (iranarze.ir)

\) that is has believed Y) It is believed Y) It believed ¥) Believing
\YY. If we increased the price, we ......... The risk of pricing ourselves out of the market. (iranarze.ir)

\) would have run Y) would run Y) have run ¥) ran

\YY. you didn’t tell me it was Harriet’s birthday yesterday. Now she’s angry at me because | forgot. You ......... me about it
earlier.

\) should have told Y) must have told Y) should tell ¥) must tell

\Y¥. During the first ............... weeks of university days, | was confronted with unforeseen difficulties

\) a few of the Y) few of Y) few ¥) a few

\Yo. will you ......... your interest in the event by returning the response card as soon as possible? (iranarze.ir)

\) accommodate Y) acknowledge Y) contemplate ¥) contradict
\Y#. With several clogged arteries, the unhealthy man had a serious .................. to lost weight and get fit

\) margin Y) portion Y) income ¥) motive

\YV. It is probably the most difficult point raised and perhaps the one which deserves the most ................ explanation
\) contemporary Y) contradictory Y) comprehensive ¥) contemptuous

\YA. The figures are so big that there is a risk that we may not see them in their proper .......... (iranarze.ir)

\) proportion Y) participation Y) promotion ¥) precision
VYA, As a(n) ccoeeeeeneenee risk-taker, Bob enjoyed exploring dark caves in his spare time. (iranarze.ir)

\) meticulous Y) ambiguous Y) conspicuous ¥) adventurous

Part B: Reading Comprehension

Directions: Read the following passage and select the choice (1), (2) , (3), or (4) that best answerseach question. Then mark your

answer on your answer sheet. (www.iranarze.ir)

A recent survey has shown that the number of people in the United Kingdom who do not intend to get internet access has risen.
These people, who are known as “net refuseniks”, make up 44% of UK households, or 11.2 million people in total. The research
also showed that more than 70 percent of these people said that they were not interested in getting connected to the internet.
This number has risen from just over 50% in 2005, with most giving lack of computer skills as a reason for not getting internet
access, though some also said it was because of the cost.

More and more people are getting broadband and high-speed net is available almost everywhere in the UK, but there are still
a significant number of people who refuse to take the first step. The cost of getting online is going down and internet speeds
are increasing, so many see the main challenge to be explaining the relevance of the internet to this group. This would
encourage them to get connected before they are left too far behind. The gap between those who use the internet and those
who do not is the digital divide, and if the gap continues to widen, those without access will get left behind and miss out on

many opportunities, especially in their careers.
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\Y'.. Which of the following is the best title for the passage? (iranarze.ir)

\) Refusing to Take the First step Y) The Advantages of Using the Internet

Y) How Life Would Be Without the Internet ¥) The Digital Divide in the United Kingdom
\Y\. Which of the following statements is true? (iranarze.ir)

\) About 44% of the households in Europe do not intend to get connected to the internet.

Y) More and more people are getting broadband services in the United Kingdom.

Y) More than 70% of UK households are not interested in using the internet.

¥) About 11.2 million people in the world have no access to the internet.

\YY. Which reasons do people offer for showing no interest in using the internet? (iranarze.ir)

\) Lack of computer skills and technical problems Y) Computer illiteracy and cultural factor

Y) Lack of computer skills and the cost ¥) Economic and cultural problems

\YY. The word “relevance” in paragraph 2 is closest meaning to ................. (iranarze.ir)

\) applicability Y) originality Y') superiority ¥) familiarity
\Y'¥. The word “their” in paragraph 2 refers to .........cceceuen.et . (iranarze.ir)

\) people using the internet Y) many opportunities Y) net refuseniks ¥) those
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